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g 3: 22,2358 60,971,000% » 0.823% = 502,0008
XE 4: 3,452 36,992,790& * 0.823% = 305,000&
T T T - M@ 5: 4,558 37,738, 1408 * 0.823% = 311,0002
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0, AIEEIRIOl H2AZXITH|, JIEH SelEM0 4AREE HIS
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3lay| 100,000 100,000 0
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(XH2E) o
o1t 1,000,000 500,000 500,000
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- A RAZ MY FEI @ 924,2008
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- (RHRE) 0’ (R&2)100,0008
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EFN S AL] 5,400,000 5,400,000 00' P DR SR
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R 1201000 ZRf 100-000) _ (zx2)100,0008 (X5E)100,0008 (F&3)20,000
R
0. AT HAHLM 3 AIHCH: 1,091,000
P-IQF%‘:” 500,000 1.091,000 591,000 Rt TR e e I A I e Y i SO BRIV VIVIV)
&
9| Z2H| 620,000 1,311,000 691,000
0. Ald 80 228t HEH| : 860,000
- (EX3) 500,000
24l 660,000 860,000 200,000
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